M a7 'omn 222" 702

N2oY2 ©pvena R1AR 7117 — I might have said that they divide the 11
with just a lopon.

Overview

The X713 stated that (according to the 7" that 7% is a wall) if the mawn would
have written 10X 1112 instead of 7M1 nX 1112 I would have thought that it meant
merely with a 09°0n. It is not clear what the X713 means by this. Seemingly it
means to say that they would be required to divide the 7% with only a 0o0n.
However this presents a difficulty. A 99°0n, as >"wA points out, and as is evident
later in the X7n3, is the minimal division between two properties. If the omw
agreed to divide, that implies that they agree to a 09°0n; how else can they
divide?! Why would the m71wn need to tell us that they are required to build a
09°01n? On account of this difficulty, *"w1 offers a novel explanation. noo1n will
offer his explanation first, then cite s™"w" interpretation and reject it.

"RP DDYOBKR %InPT X7 wyd — The explanation’ of the s'X7n3 response X"
"3 09°01n2 means that when the mwn states '129' they wanted, it is referring to

a OB"0n; they agreed to build a divider’. There is no need to agree to divide, since it is a X1
PN T M v,

mooIn anticipates a difficulty with this interpretation:

X7 X927 23 ¥ nX1 — and even though that if they did not agree to build a o2°on
amms b2 opvon 2wy v»1 — they can still be forced to build a ©99%% by either
party

TMe2 NoMTS — as is evident shortly in the “x 3

bn1o2 IRY SR RPT — for the X3 says™; Does that not mean a wall; that they
divide by making a wall. To which the X713 replies -

©2°0n2 R — no it refers to a ©990%. They divide the 7¥n with a 0o°on. It is evident from
that X773 that each partner can coerce the other to divide and build a ©9°0n. How can the X7n3
have a X"»X ™77 that they need to agree to build a noon!

moon answers: When that Xn3 states that they divide 05°0n1 —

Y173 opsona u»n — that means an inferior ©2°0%; a ooon of inferior building
materials, such as wood, etc.; that type of 09°0n one can coerce his neighbor to build jointly at
their common border when they divide.

" A oo>0n is some type of demarcation between adjoining properties. The actual meaning of a 99°0% in this X723 is
a point of contention between >"7 and our NdOIN.

% moon is rejecting s""w interpretation that 1% refers to 7pY2n. See our NMOON later,

? It would be difficult to interpret moon literally; that they agreed specifically to build a o9°on. If that were the
case, then even according to the X101 they would be obligated to build a 05°0% not a 7n13. Rather n1901n may
mean that they agreed to build a n%°nn, without specifying whether it is a 2m3 or a 05°0n.

* See the X m3 further on this Tmy.

5 The xm3 inferred from a later 71wn that if there is a 1”9 17, then one can coerce the other to divide.
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127 95 ¥ax — However when they want and agree to build a divider; the case the 7wn
is discussing (according to this XX 7M7), then —

nOTanY HMan o90n PRY — they are required on the insistence of either partner to
build a 02°0» from either 13 or n°ra

757 amans — as is the custom of the country.
mooIN is introducing us to a new type of 09°0n. It is a 09201 wall built from 1> 1. This type
of 09°0n cannot be built by coercion; rather they both have to consent to build it.

How is this n°m1 2"an 09°0n distinguishable from a m°m 93 >ma? moon explains:
opvon RPN — and it is called a ©2°07, even though it is built from n>m1 913 —
mavor X% Ry 9 — for this 09°0n wall is full of windows

TY2 WD — as the 71y explains the meaning of this 0570

SORT P19 19A% 198 — and this 09°0n does not protect one from ;89 21377, since

it is full of windows. This distinguishes it from a m> which is a solid wall and protects from
6

PR P

mooin offers an alternate difference between a 09%0n and a 5>
'S 723 WKW S5 11 R — another explanation why it is called a 09°0n, even

though it is built with n°1x1 9°13, is because it is not ten 2°15v high. For a wall to be
considered a ?m> it needs to be at least ten o°nov high. Less than ten 2°ndv is called a 090,

mdoIn will prove this latter point:

["a35] (A375) 707 a3 %33 aph mowT> — as is evident later in the *xma
concerning a roof adjacent to another roof. Concerning which -

" mIaA TpYR Y9 RIY JRRI 929 WRT — 12m 'M said, he is required to make a
(protective) fence ten 2°rov high.

"8n% 79751 — and the X713 challenges 1211 '; what is the purpose of this fpyn!?

UK P19 o8 — if it is to prevent 57°K9 21957 from one roof to the other —

J9Y2 NIRRT — we require a wall that is four N\ high, not ten onov

2130 o201 XY — and if the purpose of the pyn is to divide the roofs so if one
trespasses into the other’s roof he will be caught and deemed to be a thief, then

930 opvena — a opYon is sufficient for that purpose. We do not need a 7pyn of ten oonov. It
is obvious from that X713 that a 09°0n is less than ten 0nov high’.

According to mooin there are three types of walls relevant to our discussion. 1. A 3173 0907
made up of inferior materials, 2. A regular 090 made of n 1\ 7 that is either a) full of

® This would fit in well with this 7"» that X’ means a wall; and also maintains that P17 7w X2 7°81 p1o7. The
nawn, if it would have stated 10X 1112, would be teaching us a different w17°r than it is currently teaching us.
Even if they both agreed to build a 7¥°nn, nevertheless they are only required to build this 05°0n from n 11 93,
even though it will not protect them from X7 117, The X1pon is however, that since the 77113wn does state nNX 1°112
Sn1o7, that teaches us that even if they agreed to build a 7%°1n without specifying whether it is a 99°0n or a 7m3,
nevertheless they have to build a 7n13, even though pri mnw X2 K1 pri. See ‘Thinking it over” # 1.

" The gloss amends X7 to 3. [7pyn should then be amended to 77X M. X732 W'Y, ]

89177

? See “Thinking it over # 2.
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windows, or b) lower than ten 0°190. 3. A solid wall four nX high. The X913 says that if the
mwn would have stated "8 P12 "9 pomws, instead of Smo7 nx 113, I would have
understood the 71wn to mean as follows. Once the Pomw [divided (3"¥2), and] agreed to build
a dividerlo, they must then follow the 37 and build a 09°0n of "1 n°13 3, but are not
required to build a wall.

moon will now cite s""w1 interpretation and reject it:
WD o wPa) — and > explained” this X3 that according to this X":
RP IPYPAR 2InPT 1397 — that the word "3 ‘they wanted’ that the mwn states

is referring to the division of the 7zn.

mooIn understands *"wA as follows: The 71wn is now discussing ([even] according to the 7"n
that 7¥onn is a wall) a %0 17 72 PRY %0, The Ponmw agreed to divide this 2xn. Once the
oM agreed to divide, they can then be coerced to build a ©9°0n but not a 2m> (presumably
since Prn N X2 7R PIN).

ndoIN asks on "'wA:

smony — and this interpretation is baffling!

NRTIA 19957 ARNT POON RAT — for the xn) just concluded that the word '35’
in the 71w means a wall (according to this NwY)

XnMwD 987 — for if the word 7%¥°1n would mean a division, then -

79% "pavm mxnY — the m1wn should have stated n2nR® not 7x°nn mMwy5. The opinion of
this WY is that the word 7¥°’nn cannot mean a division; it can only mean a wall. How can we
now say that if the 73w»n would not say 2m>3, I would think that 7%’ nWv? 187w means they
want to divide?! Whether the 71wn writes 7M1 or 1mX cannot change the meaning of 7¥°nn.

mdoIn now question the supposition that a ¥173 09°0n would be sufficient, since it says MY
and not 3.

2 vxn 9257 7 — and there is further difficulty with this interpretation,
How can the X1l say —

Rnoya opona RN 71777 —that I may have thought (if it would say 11X and not
%n10) that the divide merely with a 5% and not with a wall —

RDYOM 1719 YR N7 — but we know this from the 820 of our *mwn -

2O IR (T2 Ban inpT — that states: However if they both want to divide

P9 IR0 NID Y9eR — even if the 7xn is less that eight oonov, they can divide.
What is the meaning of this division? How will it be apparent that the 7x11 is divided?

©2°0%2 NI Yo% 1M — this obviously means that they will divide the 13¥n at

least with a ¥173 %%, Why then would our 73wn have to tell us the same 7 again that
they divide a Ap¥?n 7 72 PR 780 with a 09°0n?

mooIn asks a final question on *"'wA

10 See footnotes # 3 & 6.
" See mm "7 >"w.
12 x,%° 77. The mawn states that if the 77 is less than NMX ' we cannot divide >"va.
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2nvab xn 7 8o 7Y — and furthermore how can we have thought that if the
mawn would say "\miX', that we divide -

NXn»bya opona — only with a 2992, which according to "1 means small pegs —
NOTAY D3 PRSINRa "Inp X772 X7 — but the mwn clearly states that you must

build it with D3y 993, nor 9 are certainly not a 09°0n of pegs. How could there have
been even such a X"

Summary
""w7 and MooIn differ as to the explanation of X1%¥2 05°0n2 K",

MooIN introduces two types of 09°0n. A 1173 09°0n 1s made of inferior materials.
The oo°on discussed here is a wall made of N>t 9°13; either with many windows
or a wall less than ten o°mov (either case cannot protect from 7°X7 P1°77). The
explanation of the & nx is as follows: We are discussing a 71717 17 72 wow J3n.
The Pomw divided the (3"v2) 7xn. They agreed to build a 7x°rn. If it would say
MR 7112 I would have thought that we can only obligate the partner to build a
05°0n of N°1a 913, but not a HM>.

"7 interprets the X3 as follows: The 71wn is now discussing a 1°7 72 PRW X7
7120, The Pomw agreed to divide this 7%¥1. Once the Ponmw agreed to divide,
they can then be coerced to build a 05°0n but not a Pn>.

mooIN poses three difficulties with this interpretation:

1. How can mx¥°nn meant to divide according to this Nw5.

2. I know from the following 71wn that if Pamw divided a 11"7 72 PRY ¥, that
they build a 09°0n. Our 71wn is superfluous.

3. How could I have thought that they build a 0201 (of pegs) when the mwn
clearly states n 1 .

Thinking it over
1. According to m50I1n which would be the greater w17°m; if the m1wn would have

written 1MX and it would mean a 09°07 or the miwn writing ?m> and meaning a
5?7

2. What proof is there from 1"7 that a regular 09°07 is less that a’rov “? Perhaps
the X3 there is referring to a 1173 0p°on?"

3. Usually m»oin cites s™"wA interpretation first, refutes it, and then presents his
own interpretation. Why did this m901n present his interpretation first?

4. Why would "w" not agree to N190IN interpretation?

3 For a clarification and defense of *"wA see 1"21m7 (explained in X MR 717 D).
1 See footnote # 6.
15 See footnote # 9.
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